Electrician Theory 2nd Year NIMI Question
Module-1 DC Generator | #Iggel -1 SIHT el

Q1 What is the name of the part marked as 'X' in the DC generator? | 31T STelteX & 'x' & &
H RITEAT HI9T FT ATH FATE?

(A) Armature core | 3R FR

(B) Brush | 5121

(C) Commutator raiser | FFgeeT TN
(D) Commutator segment | HFI¢eT TS
Answer:C,

Q2 What is the name of the D.C generator? | D.C SeReX &bl o118 &7 §?

PN
b Doy
O
'l Iy
LOAD

(A) Differential long shunt compound | FBHITRITe @ledT QI HUT3S
(B) Differential short shunt compound | fS#RIzer orgeie Aifaten
(C) Cumulative long shunt compound | @t ee Iifas

(D) Cumulative short shunt compound | FeriT &g 7€ ifareh
Answer:A,

Q3 Which rule is used to find the direction of induced emf in a DC generator? | D.C SelReX &
IR STATE &Y fe2m A1d Fa F forv fovg fazreT 1 39Aer fomar sirar g2

(A) Cork screw rule | &ieh &5 g

(B) Right hand palm rule | g1fg=t 1Y i gl &1 fagH

(C) Fleming's left-hand rule | FeIfH3T & STT g1 T fagsT

(D) Fleming's right hand rule | FifH3T & gIfget 8T & T

Answer:D,
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Q4 Which formula is used to calculate the generated emf in the DC generator? | DC SfeieX
H 3ot STHTD Y ITUTAT &t & ToIT I T 3TN T STl 87

ZN,
(A) Generated emf 3cTes STATH = =7
N A
ol
(B) Generated emf 3cUesT STHUGR= 0

(C) Generated emf 3cdeeT STHTG = -

(D) Generated emf 3cTesT SUATE =
Answer:C

Q5 What is the formula to calculate back emf of a D.C motor? | STHU® &I IUTAT Hlet T HF
FIT g2 Uh SL.AT. Ay & forw?

(A) Eb =V /la Ra Volts | Eb =V / la Ra dlecd

(B)Eb =V xla Ra Volts | Eb = V x la Ra dleeqd

(C)Eb =V —laRa Volts | Eb =V — la Ra @lecH

(D) Eb =V + laRa Volts | Eb = V + |la Ra dlecd

Answer:C

Q6 What is the name of the part marked 'X' in the DC generator? | DC Generator & 'X' & &7
H RITETT 19T T ATH 4T 872

w i
(A) Pole tip | ¢a s s
(B) Pole coil | aa'a»—sra?r
(C) Pole core | Grel AR
(D) Pole shoe | GYef g
Answer:D,

Q7 What is the name of the D.C generator? | D.C STeiXeX &l =118 &7 g7
oA A

B rume FoooL e
L-r‘r—-i A‘—E—@—'—I
i | i) ® pe
doaesl Tl |9

e -

(A) Shunt generator | 2€ STeReX

(B) Series generator | A0f SeleX

(C) Compound generator | T3 STeiiex

(D) Separately excited generator | 37el9T & 3ol SlaiieX
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Answer:D,

Q8 Which energy is converted into electrical energy by generator? | S¥eX GaRT fhd FolT &l
faeget 3t 7 gRafed faar Sirar g7

(A) Heat | 3°AT

(B) Kinetic | aTfasT

(C) Chemical | T afae

(D) Mechanical | i3

Answer:D,

Q9 What is the name of the D.C. generator field? | D.C Seex Hes &l AATH T g3?

i -

L

-\:i‘/_,_/""'-ﬂ - _.-U
(A) Short shunt compound generator | agr%i‘c i3 A
(B) Long shunt compound generator | Ale-dT [ HUT3S eI
(
(

C) Differential compound generator farach | fd#ige Fifaes Seiiex
D) Cumulative compound generator | Ga=iT 313 Seiiex

Answer:D,

Q10 What is the principle of D.C generator? | D.C WW@E@H?&T g7

(A) Cork screw rule | &ieh & g

(B) Fleming's left-hand rule | Feif&3T & ST &1 T T

(C) Fleming's right hand rule | FeIfH3T & gIfget g1 &1 faas

(D) Faradays laws of electromagnetic induction | %3 @ fdegeT Tesehlar 9o 1 Tz

Answer:D,

Q11 What is the formula for dynamically induced emf? | arfaefier 7 & IR STATS & forw
I FAE?

(A) BLV volts | BLV dtec

(B) BL sin® volts | BL sin dlec

(C) BLV sin® volts | BLV sin® dlec

(D) BLV cos® volts | BLV cos8 dlec

Answer:C

Q12 Which rule is used to find direction of the magnetic field? | T &1 T fe=uT AT et
& fore e faTeT &1 39AeT fovar Srar &2

(A) Cork screw rule | &ie &5 aH

(B) Right hand palm rule | &Tiget &1 Y gelt &1 faa#d

(C) Fleming’s left hand rule | FIT&HaT o STT &I &l HIH

(D) Fleming’s right hand rule | FeITH3T & GIT &1 T T
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Answer:D

Q13 What is the name of the part of the DC generator? | 31T STeI{eX & HTIT T ATH FIT 72

il

(A) Stator | FeX

(B) Yoke (or) frame | T (IT) vl
(C) Pole core | a0 Ik

(D) Pole shoes | dTeT <[
Answer:B,

Q14 How many parallel paths in duplex lap winding of a 4 pole Dc Generator? | 4 GteT 31T
SToRET o FCelehd AT ATSTS T #H fohelel AT T 872

(A) 4

(B) 6

()8

(D) 12

Answer:C,

Q15 Name the part of the DC generator? | 3T STeIXeX o HIT T ATH FAST?

%- ' 1-:@
2 H‘g,'f%:,
el

(A) Side end plates | @183 TS Telcd

(B) Pole shoe lamination | Gtef g AfA=RIET

(C) Commutator segment | HFgeel @S

(D) Armature core lamination | 3= S @A

Answer:D

Q16 How are interpoles connected in a DC generator? | SIAT STeeX & geTdiel &l 53 8l 872
(A) In series with armature | 3R & T @ell &

(B) In parallel with armature | IR & Y G &

(C) In series with shunt field | 27¢ Hres & AT S @oll &

(D) In parallel with shunt field | oie BIes & T FHATAR 3

Answer:A,
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Q17 What is the necessity of residual magnetism in a self excited DC generator? | T T&J
FATSH ST ST H AfRASE Yoehed I HTARTRT FIT 872

(A) Build up the voltage | aYeest &1 [AATOT et &

(B) Reduce the field current | HIes e & il H

(C) Reduce armature current | 3THTR e e Pl H

(D) Maintain constant output voltage | fadd 3M3eYe dled S=1TT T@= A

AnswerA,

Q18 Which are the two points that the brush contact resistance measured in D.C machines?
| D.C #efiail &, 3 leT & aF Toig & it s7er Eoeh FTcRIe &l AT 872

(A) Resistance between the opposite brushes | faaId ster & =1 gfaRrer

(B) Resistance between brush and commutator raiser | 5121 31X HFIEeT TSR & A= FAAY
(C) Resistance between brush and commutator | 5127 3R S#geex & e FicRier

(D) Resistance between brush and armature conductors | 12T 3iR 3R FHgFeIs s
IR

Answer:C

Q19 Which voltage drop is indicated in the portion marked as x? | foh& alecst 319 T x & F9
H RafEad o s g7

]

L]
L)
|
i
1

c E
LOAS O WPEAT T"'
i

(A) Full load voltage drop | 9o &8 dleest dTe
(B) Armature voltage drop | 3R alecst aTd
(C) Armature reaction drop | 3R Rueera 31
(D) Shunt field voltage drop | 27 ®es dlecst 31T
Answer:C,

Q20 What is the name of the compound generator, if the shunt field is connected in parallel
with the armature? | e eie Hres FI TR & TATATAR ST SATAT &, T I STee &1 A1
FATE?

A Long shunt compound | &3T Qi€ &U138

B Cumulative compound | §==iY 3o

C Differential compound | fa#ee e

D Short shunt compound | o 2fe Ztfaten

Answer:D

Q21 Why is the armature core of a DC generator laminated? | F4T Teh SIHT e & THIR
HR gcford g2
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(A) Reduce the copper loss | dT# glfel I & HY

(B) Reduce the friction loss | &¥0T g1faT ST &a Y

(C) Reduce the hysteresis loss | fgEeRAT g1fey 7 X

(D) Reduce the eddy current loss | $7a3 &IRT g1feT &l el HY
Answer:D

Q22 Why armature resistance of a D.C generator is very low? | D.C SeiReX &l 3R gfarer
g HH FT 872

(A) Reduce armature current | 3TTHTR &TRT S &Y

(B) Reduce armature voltage drop | 3R aeesT 31T l A YL

(C) Run armature with less weight | & dsTeT & ATY 3THIR Tl

(D) Reduce the temperature of armature | 3R &7 ATIHATT HHF X

Answer:B

Q23 Why does the D.C generator run in clockwise direction only? | D.C SeIeX I €ar &hr
feem & € 7t gt anfge?

(A) Protect brushes from damage | s3I &1 SJshdlel & AT & ferw

(B) Protect the residual magnetism | aaﬁwaaﬁa»—q'ﬁrvmﬁ

(C) Avoid short circuit in armature | 3TTR & Qe T A a2

(D) Avoid overloading of generator | STe¥ex JTAHTRT el & §F

Answer:B

Q24 Why compensating winding is provided in large DC generators? | §3 31T Sfeliel &
HATGER &TTIqfc 3T JeleT shi Silell 82

(A) Connect more loads | 31T @5 Helde L

(B) Reduce commutation effect | eIl TG &1 ha Y

(C) Neutralize armature reaction effect | 3R UTfehaT T8I I TR HY

(D) Increase the efficiency of generator | STeReX &I G&TdT S&IT

Answer:C

Q25 What is the reason for the DC generator failing to build up voltage? | 81T STeikeX &
Arecst T [AATOT et 3 Tl glel T T SIRUT &7

(A) Loose brush contact | &rel s1eT TSl

(B) Armature resistance is more | 3T#=R gfaRer i &

(C) Field resistance is above critical resistance | %res Ifaer wifae IfeRIr IR g
(D) Prime mover is running at above rated speed 9IgH HaY WL MAAFR AT @&
Answer:C,

Q26 What is the name of a generator, if its field is connected in parallel with armature? |
STeAREX T #ATH FT §, AT FHEHT &1 TR & FHAIK STST g &7

(A) Shunt generator | 2I€ STeeX

(B) Series generator | Sof X

(C) Compound generator | T3 e

(D) Self excited generator | T 3AToTd STeiieX

Answer:A

Download from : www.ncvtonline.com



Q27 What is the purpose of pole shoe in a DC generator? | ST SfeieX & dlel Q[ 3T 3eaT
FAT?

(A) Reduce the air gap | TIX 3T &Y T AT &

(B) Increase the field strength | &1 T dTehd JGIdT &

(C) Minimize the magnetic losses | e gTioTdT T T &

(D) Spread out flux uniformly in the air gap | TR 3T F AT T & Folard ol theldl ¢
Answer:D

Q28 What is the function of split rings in a DC generator? | ST STeixeX 3 FEcete Rar &1 &/ ar
F 8?7

(A) Maintain constant voltage | fAXaR dlecst SATT I

(B) Collects the current unidirectionally | &TRT &T Teh &I 3 T HIAT &

(C) Reduces the voltage drop at brushes | §12T TR @leeoT 319 T el FIAT §

(D) Increases the terminal voltage than rated | Y& @ Jelell & EfHeTel dlecst qaldl &
Answer:B

Q29 Which material is used to make a brush in a generator? | STeleX H §2 §o1lel & [T fhd
AT FT 3TIT TRAT AT 872

(A) Steel and graphite | TTeT 31 AHET

(B) Carbon and graphite | ST 3iX APEe

(C) Cast iron and graphite | &efar oligT 3R AwIST

(D) Aluminium and graphite | Teg# e 3R Ithrse

Answer:B,

Q30 Why DC generators are losing their residual magnetism? | T SI&T ST 3=t 3aferse
qaehed @ & 87

(A) Heavy short circuit in load | R & #IXY 2lic Tfdhe

(B) Running without load continuously | fS=IT @18 & S9ITdR I W& &

(C) Continuous running without break | fSieT $eh SRR TelelT

(D) Change of direction of rotation very often | J¢2eT T fE2IT 3TFEX deelalT

Answer:D

Q31 How does the magnetic circuit complete through the yoke and poles in the generator? |

Teh SToeX & ek AR ¢1d & ATETH @ Yl Fiche Hal I Il 872
(A) Field coils | & a@r»?r

(B) Armature core | 3T3feR K

(C) Laminated pole core | eferd diel X

(D) Winding conductors in armature | arsf3dT Fgae & TR
Answer:B,

Q32 Why does the terminal voltage decrease if load increases in the DC shunt generator? |
Y 97 T H IS Ioo T efiToT aieest d FAT &1 ST &7

(A) Because of armature reaction effect | 3= gfafshar yamma & roT

(B) Due to increased in armature resistance | 3R 9faRrer 7 a?ﬁ%f % HROT

(C) Because of brush voltage drop decreases | sT2r die st $I ToTg A FIRTaE F g ST &
(D) Due to increased in shunt field inductance | 2T€ fthes Yehcd 7 gEf&r & HROT

Answer:A

Download from : www.ncvtonline.com



Q 33 Which type of DC generator is used for long distance distribution lines? | ofsit g{T faeRor
ATSAT & FIT fhg YhR & ST STeiex T 3UIT fhar SATdT 872

(A) Shunt generator | 8¢ STeIeX

(B) Series generator | #0fr X

(C) Differential compound generator | fd#ee A1 ST

(D) Cumulative compound generator | T3t Iifde STelkex

Answer:D

Q34 Which method is used to improve the insulation resistance in a DC generator? | DC
STER H gegol2lel FTeRIY Sl dgcR &eilel & foIT foha fafer a1 3u2ver fahar i g2

(A) Replacing the brushes frequently | 72T &l SRS dGelell

(B) Heating the machine by running periodically | FHI-THT W FLMT T I3 T

(C) Cleaning the commutator segments regularly | IfHT €9 & Frgeey Qerie H 6
AT

(D) Blowing hot air in to the machine during maintenance | TER@TE & gi1eT 7T F 3167 gar
ST

Answer:D

Q35 Which type of D.C Generator works in absence of residual magnetism? | 37af2rse
eehcd o 37877 3 fohd FehR T D.C SIeTRex h1d Hcll 67

(A) Shunt generator | 8¢ STeIReX

(B) Series generator | S0f e

(C) Compound generator | T e

(D) Separately excited generator | 37el9T & 3AToTd STeiiel

Answer:D

Q36 Which type of D.C generator is used for arc welding? | 37 dfessT & forw fFd JovR &
DC SAE &1 39N fohaT ST 82

(A) Shunt generator | 2I€ STeeX

(B) Series generator | Sof X

(C) Differential compound generator | [a$ige IifaTeh STeiiex

(D) Cumulative compound generator | TadT Iifdre STelvex

Answer:C,

Q37 What is the property of wave winding in D.C generator? | D.C STeleX & didT arsfsar &hr
faRrerar &Far 872

(A) Low current low voltage | & YRT dlecol el

(B) High current low voltage | 3Td 4IRT & dlecol

(C) Low current high voltage | & €IRT 3T dlecol

(D) High current high voltage | 3Td 4IRT 3T dlecal

Answer:C

Q38 What is the purpose of resistance wire used in the commutator connection in D.C

generator? | D.C SeiieX H egeel Hlolel & Yercd JTaRIY A &l 3662 T 872
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(A) Maintain constant voltage | fad alecsT SoITT @I

(B) Nullifying statically induced emf | = ¥fder ®9 & R STATH
(C) Increasing statically induced emf | T&fae &7 & 9RA STATE o=
(D) Smooth reversal of current direction | &RT f&2IT &7 3T & TeleAT
Answer:D

Q39 Why solid pole shoes are used in D.C generators? | D.C SIeReX # 3IF GYel ¥ & 3uA1ET
4T foRaT ST 872

(A) To reduce the copper loss | AT & aehdTeT T FHH Fel & fT

(B) To increase the residual magnehsm | 37afRrse Teehca FI Tl & forvw

(C) To decrease the residual magnetism | 37afRISE eehcd T FHH Fel & faT

(D) To reduce the reluctance of magnetic path | il’cﬁ'éir T & RelaFcd I e Il & [T

Answer:D

Q40 Which metal is used to make a large capacity D.C generator yoke? | 931 &7HdT o Srdr
STeER Aleh SaTlat & TeTT fohdy 1] &1 39TeT foham Sirer 87

(A) Cast iron | &ofar oligr

(B) soft iron | = wTgT

(C) Aluminium | 3Teg#fazeT

(D) Rolled Steel | e Térer

Answer:D,

Q41 What is the function of split rings in a D.C generator? | 3T STelkeX & cere Raq &1 a1
g2

(A) Supplies output continuously | e3ITAT 3-TI321=I'cr $r 3ﬂtlﬁ

(B) Makes output in the uni direction | Ter &2 e 31'I3‘c,"c|'r.r FATAT &

(C) Makes output in the opposite direction | faadia feramr & 3I3CYE FIATE

(D) Collects the output from alternate conductors | TcaTadt & ST A HT3CYC Tehd AT §
Answer:B

Q42 Which type of voltage is induced dynamically in a D.C generator? | D.C SleiReX H fordr
YehR T dlect Aafel & & AR glarg?

(A) Pulsating voltage | 9e8TeaT dlecst

(B) Oscillating voltage | &Ieiir dlecol

(C) Alternating voltage | ¥caTadr alecst

(D) Direct current voltage | 9cJ8T &IRT dlecal

Answer:C

Q43 What is the purpose of a slot marked as 'X'? | 'x' & ¥4 # g Telic FT 36T FT 87
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Uﬂﬁ Ty
ym/

(A) To fix the key way | Foil AT ek Tat & ferw
(B) To make air circulation | I IRETIOT T o T
(C) For lubrication purpose | e 3T & faw
) For easy removal from shaft 2TFe & 3T & gelol & folg]

(D
Answer:A

Q44 What is the purpose of field coils in a D.C. generator? | D.C. STelReX & Hes Shisd &l
3CaRY FAT 572

(A) To increase the flux in air gap | TR 39 I Felerq &I FGloT & o

(B) To decrease the magnetizing current | HIFCISIGHT FE I e Il & ToIT

(C) To magnetize the poles to produce coil flux | el Feler T fFHATOT iet o forw erat ahr
JFafehd LT

(D) To increase the reluctance of magnetic path | T 9 & RereFed &l dgl=t o folw

Answer:C,

45 Which metal is used to make pole core of large DC generator machines? | &3 31T STl
AT o Gl SR FoAl=l o TeTT ot &1 &1 3TATeT foham Sirer 87

(A) Soft iron | 73T oligT

(B) Cast iron | @ofar oligr

(C) Cast steel | Geldl SEATT

(D) Stainless steel | T¢oTeld Tial

Answer:C

46 Why the pole core stampings are laminated in DC generator? | FT GleT S TITAT 34T
JeReX H gefold &id 72

(A) Reduce the friction loss | ETUT gTfeT I A Y

(B) Reduce the windage loss | a3 &g &t s &

(C) Reduce the hysteresis loss | ¢RI g1feT FI e Y

(D) Reduce the eddy current loss | HaX ¢IRT gfel I Ha HY

Answer:D

Q47 Which type of DC generator is used for the electroplating process? | SelareIcalfear wfshar
& forT fone IR & ST STeiex T 39T fohdT ATAT B

(A) shunt generator | € STelkeX

(B) Series generator | Sofr e

(C) Differential compound generator | fa$ige IifaTe STekex

(D) Cumulative compound generator | TadT Iifdre STaex

Answer:A,
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48 What is the purpose of compensating winding in DC generator? | 3T STelieX #
FFIFATEIT aTSISeT T 3552 FAT 872

(A) Minimizes rough commutation | FOR HFICAT HH FAT &

(B) Maintain constant output voltage | fad 31T3eqe atecst a=TT IW

(C) Neutralizes the demagnetizing effect | ﬁmﬁw JHTT I ST P &l ¢

(D) Decreases the excitation current of field coils | &7 Fell Seofel YRT Y T §
Answer:C

49 What is the effect if the shunt field resistance is above critical resistance value in a D.C
generator? | If¢ 2ic $res UTeRTY Shifce ITaRIE AT F FIR ¢ ol FIT TG ISdT g2 Teh DC
AT H?

(A) Output voltage is pulsating | 3T3€Ye dlecst TeA e &

(B) Output voltage is above normal | HT3EYE dieds T T TN g

(C) Generator fails to build up voltage | SleReX dlec ol STt H fAhel W|aT &

(D) Generator builds up voltage normally | S/eI{eX ATATY FT H dlecol dATAT §

Answer:C

50 What is the effect of armature reaction in DC generator? | 31T Sieitex & 3R ufafsar
T THTT FIAT g2

(A) Output voltage increases | 3T3¢4c dlecol 9&dl &

(B) Output voltage decreases | 3-Tl3_c,"cl'c," dlecol e 8l oIl &

(C) Output voltage is pulsating | 3T|3‘c,"l:-|;cf dlecsT TUfed T W@T &

(D) Output voltage will become zero | 3T3eYC dleesT Y 8T ST

Answer:B

51 Calculate the emf generated in a 4 pole DC generator with simplex wave wound armature
has 1020 conductors and driven at a speed of 1500 rpm, the flux/pole is 0.007 Weber's? |
faFTelerd 39 a133 3T & AIY Ueh 4 Giel ST STeleX # 1020 s g AR 1500 IRATH
#Fr afa O gnfard §, Folad / 91T 0.007 AsT §; 3cUTied SUHUT T I0TAT Y2

(A) 178V

(B) 243V

(C) 357V

(D) 428V

Answer:C
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